:(2000) 1 (2200) 1(2220) 1(2221) :(110) [ ]
2000 [ 2,400 73,308 01]
4,113,865 4,042,957 70,908 [ 0 0 01]
2200 [ 2,400 73,308 01]
4,113,865 4,042,957 70,908 [ 0 0 01]
2220 [ 2,400 73,308 0]
4,113,865 4,042,957 70,908 [ 0 0 01]
2221
3,186,114 3,149,512 36,602
100
3,144,228 3,132,626 11,602
110
2,064,740 2,053,138 11,602
101
2,064,740 2,053,138 11,602
25,742 14,140 11,602|04
25,742,000 - 14,140,000 11,602
200
41,886 16,886 25,000
220
41,886 16,886 25,000
401
25,000 0 25,000




:(2000) :(2200) 1(2220) 1(2221) 1 (220) 1[ ]
25,000 0 25,000 01
25,000,000 x1 25,000
2222 [ 2,400 36,706 0]
927,751 893,445 34,306 [ 0 0 0]
100 [ 5,100 6,206 0]
248,951 237,645 11,306 [ 0 0 0]
110 [ 5,100 6,206 0]
36,340 25,034 11,306 [ 0 0 0]
101
36,340 25,034 11,306
36,340 25,034 11,306|05
1,106
10,200
() 5,100
() 5,100
200 [ 7,500 30,500 0]
678,800 655,800 23,000 [ 0 0 0]
210 [ 7,500 7,500 0]
104,000 119,000 15,000 [ 0 0 0]




:(2000) :(2200) 1(2220) 1(2222) 1 (210) [ 10 ]
202
14,000 7,200 6,800
10,000 7,200 2,800|01
= 2,000
() 1,000
() 1,000
= 4,800
() 2,400
() 2,400
4,000 0 4,000/03
= 4,000
( 2,000
( 2,000
207
50,000 36,800 13,200
50,000 36,800 13,200|03
( 13,000,000 + 13,000,000 ) - 15,000,000
= 11,000
() 5,500




1 (2000) 1 (2200) 1(2220) 1(2222) :(210) [ 1 : 1

() 5,500
( 12,000,000 + 12,000,000 ) - 13,800,000
= 10,200
() 5,100
() 5,100
= 8,000
() 4,000
() 4,000
405
40,000 75,000 35,000
40,000 75,000 35,000 |01
(PFGE)
( 20,000,000 + 20,000,000 ) - 65,000,000
= 25,000
() 12,500
() 12,500
(PCR) = 10,000
() 5,000
() 5,000
220
574,800 536,800 38,000




1 (2000) 1 (2200) 1(2220) 1(2222) 1 (220) [ ]
207
226,800 188,800 38,000
199,800 161,800 38,000|03
141,800,000 - 121,800,000 = 20,000
Q

60,000 x300 = 18,000

4,113,865 4,042,957 70,908




